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Unit 6 Test Review

. Judging by appearance, classify the figure in as many ways as possible. .
1. Judging by appearance, classify the figure in as many ways as possible (All anglog arevighe angles.)

rectangle, square, quadrilateral, parallelogram, rhombus
rectangle, square, parallelogram

rhombus, trapezoid, quadrilateral, square

square, rectangle, guadrilateral

2. Find the values of the variables and the lengths of the sides of this kite.
2= X2 2 x4z = X+\
V - X+4 X=9
\' =13 ¢

a. x=9y=13,7 15 () x=9,y=13;11,20
b, x=13,y=9;% 15 d. x=13,p=9; 11, 11

3. What is the most precise name for quadrilateral ABCD with vertices A(~5, 2), B(-3, 6), C(6, 6), and D(4, 2)?

a.  quadrilateral b. rectangle parallelogram d.  rhombus
C @ &/_r.---» c_,
4. Which statement is true? ﬁ . D
a.  All quadrilaterals are rectangles. I W
b. Al quadrilaterals are squares. —

C (c) Al rectangles are quadrilaterals.
~d, Al quadrilaterals are parallelograms.

5. Which Venn diagram is NOT correct?

' O
7 |
. Rhombuses
Stuares
-
Squares Reetangles
g™

<. d.

Parallelograms

@
—

a. 66 b. 124 114 d 132

’\>!. ABCD is a parallelogram. If maZDAB = 115, then mzBCD = 7 1>

a 125 b. 65 c. 75 115

o
i
C' 6. ABCD is a parallelogram. If msCDA = 66, then mZBCD =



8. LMNO is a parallelogram, If NM = x + 15 and OL = 3x -+ 5, find the value of x and then find ¥M and OL.

o o= -~
X+19 = 3wt NN =40
IO = 2X OL = 20
b= X
9. For the parallelogram, if m22 = 5x — 28 and m£4 = 3x — lﬁ@d m&ﬁi jhe diagram is not to scale.

7*
/5 5"‘% Sy ~2§ = 3K—10
= 2X g

—
p—

X=9

me3 = 18017 = [B°

10. Find the values of the variables in the parallelogrum. The diagram is not to scale.

11. WXYZ is a parallelogram. Name an angle congruent to ZWZY,

2 W0 XY

12, In the parallelogram, mZKLO = 68 and mZMLO = 61, Find mZKJM. The diagram is not to scale.

129°

13. In parallelogram DEFG, DH = x+ 3, HF = 3y, GH = 4x - 5, and HE = 2y + 3. Find the values of x and y, The

diagram is not to scale.
g Y = 3\[ L\X = 2y+3
%= 3y-3 LIB\{ -3)-5 = 24x>

2y-1- S = Y3
?{':LO“’% | 9 j"\q = 2\5““5

(X=20 9= 22




Determine whether the following are always, sometimes or never true:

14. The diagonals of a parallelogram are perpendicular. S@(‘{@ WD ( l(\’ \t & O 0 hﬁ‘“b u,o)

15. Both pairs of opposite angles of a trapezoid are congruent. NQ.U o (\)( WaY \(\\ \YL\N{

o e 427)
16. Findé@n the parallelogram it PN =9 and A0 =4, The diagram is not to scale.
7 T N

A

P [#]
17. Find values of x and y for which ABCD must be a parallelogram. The diagram is not to
scale.

A B

D

18. Based on the information in the diagram, can you prove that the figure is a parallelogram? Explain.

a.  Yes; both pairs of opposite sides are congruent.
%) (® Yes: opposite angles are congruent,
¢ No; you cannot prove that the quadrilateral is a parallelogram,

d. Yes; two opposite sides are both parallel and congruent.
19. Based on the information given, can you determine that the quadrilateral must be a parallelogram? Explain.

ra—y

Given: XY = @an& W = ¥z
X - y

t a.  Noj you cannot determine that the quadrilateral is a parallelogram,
Q/ b, Yes; two opposite sides are both parallel and congruent,
% 2} Yes; opposite sides are congruent.
= Yes; diagonals of a parallelogran bisect each other.
1
w ! 2

20. HWON=5¢~4, LM =4x+7, NM =z 7,and OL = 2y - 6, find the values of ¥ and y for which LMNO must
be a parallelogram. The diagram is not to scale.

0 55')( ~ 4 N 5\( .‘L\ o | L\\{ *_} 2\5,\0 2 \\
Y&




21, Wmdl = msl = 41, find msC so that quadrilateral ABCI is a parallelogram, The diagram is not to scale.

. TN and = T
d XWz=¥andXY = ¥YZ

23. Inthe rhombus, ms] =6x; mZ2 = x + 3, and m23 = 18z, Find the value of each variable. The diagram is
not to scale.

24. DEFG is a rectangle. DF = 5x — 5 and EG = x + 11, Find the value of x and the length of each diagonal,
a, x=d4 DF=13, EG=13 @ x=4 DF=15 EG=1§
b. x=4, DF=15 EG=18 g, x=2,DF=13 EG=13

C S-S = XA+
Ux = \\Q )L:L\

25. Which description does NOT guarantee that a quadrilateral is a parallelogram?
/a./ a quadrilateral with both pairs of opposite sides congroent

"’D /b/a guadrilateral with the diagonals bisecting each other
“w aquadrilateral with consecutive angles supplementary
) quadrilateral with two opposite sides paraliel

26. Find the values of @ and b.The diagram is not to scale,

13 [KOP?)LQ s quo = GO

: O-1s=b =t

27. The isosceles trapezoid is part of an isosceles triangle with a 46° vertex angle. What is the measure of an
acute base angle of the trapezoid? Of an obtuse base angle? The diagram is not to scale.

180 e = 154 =1L

22— =

67% 134° @ 6% 1157 o, 46% 134° d. 46°% 113°




28, Find ms1 and m3 in the kite, The diagram is not to scale,

mzi=29°
miz = Q0-8 = 51°

29, Which description does NOT guarantee that a trapezoid is isosceles?

?‘ . /@smglmnt bases -‘>Q0¢B~ W o covt Hvape.
—

congruent diagonals
both pairs of base angles congruent
e congruent legs

30, &S and £M are base angles of isosceles trapezoid JKLM. If m2J = 20x + 9, and
meM = 1dx + 15, find msK,

151 b. 1 c. 29 d. ?5'*.5 L
B oA = ILWHS’ =
{0-24 oy = MmLy=249

= g]" YJ' {
31, mLR =130 and m2S = 80, Find msT. The daagram is not to scale. "

3D~ 130 »a@)q@o 3

32, One side of a kite is 8 cm less than four times the length of another side. The perimeter of the kite is 78 cm.

Find the lengths of the sides of the kite. ¢
9.4 cm and 29.6 ¢ ¢. 235em HX - U -8 = 29.G e
b, 235 cmand 86 cm d. 94cm
2(4x-¢) + 2Xx =78
BK=lle +2X =T X=9.4cm

(ox =M  x=9.4
33, For the paralielogram, find coordinates for P without using any new variables.
¥y

les 2 (0o, )

=
3
B




34, In the coordinate plane, three vertices of rectangle HIJK are H{(D, 0), {0, o), and K{e, 0). What ave the

coordinates of point J9 0)
e & ; d {-‘:-
a. (2e,2d) b. (de) T ] Q (e, d) d. {3‘ , 5]
4

35. Which diagram shows the most useful positioning of a square in the first quadrant of a coordinate plane?

d . - b, s : d.
alla) a2 ) @;\/) {a. a)

ALy o)

(2a, &)

(9 s,
(L0  {a DY {a, 1Ts {0, o) {a, )2

W10
i
x

36, Which diagram shows the most useful positioning and accurate labeling of a kite in the coordinate plane?

b, <.

, (.<) A (., ¢) (2, 2a) 0,
/ o, | / A
(~a, 0) {6, 0 (0, ) (0, a) -d. 9\ {8, 0] .

B \/ OF) U 6.9 '* 6/> Betth-

Y S~ & (-4 A

37, What type of quadrilateral has exactly one pair of paratlel sides? (D_DQ"&D \05\

38. Isosceles trapezoid ABCD has legs AB and (,.D, and base BC. If A8 = =4y — 3, BC' =3y~ 4, and CD = Sy — 19,
find the value of y.

D —_—
%ﬁ( 50 1Y3=Yno
1 =Y

33 -4
39, For parallelogram PORS, find the values of x and y. Then find PT, TR, ST, and 70, The dlagram isnotto

scale.
oyl = ¥ XY = 3y -\

2 =\ ( \/ (,, = 3 W\
=5 M e
/ TQ- 5 "' = L) >(

5 - R( ST="% ( 3 =
\‘ \\-TQ _ q / _..,,/




40. Give the name that best describes the parallelogram and find the measures of the numbered angles. The
diagram is not to scale.

\ngrb 42 mal 2= M3

| 80 {S’ % —= YY)Z—(‘{ /_)

LT =3) R /
5 |

Complete the following proofs: '
A fE M\om Quapeo

41, Given: SV =TU andSV | TU | o o = — 1100 \
Prove: PX-XT “ |.SV2 TS ST | |, Gwen

y d 9. NUTS B & L. \§ v pre P PP
= Slds s @ 4|\,
‘g\cs\irq § = LD,
3,0y & XT Dl&M %
. [j bisoes
Qaek dther.

42. Show that the quadrilateral with vertices A(0, - 6), B(4, - 5), C(6, 3), and D( 2, 2 ) is a parallelogram.

J\\\mm &\opm ¥ o o aw =,
e opp- suer G\ Masfow ARCH 58

- PO GO ¢



49 ?iven : NRSM is a parallelogram 7 M

| ogpon:

L4225
Prove : ERAM is a parallelogram \r \QQB‘\\ oo (-
L_L}’t‘" LS/—
d. NE I'ms
4, L3228
Hoepges
5., LIY O
*%‘\5 ¢ o
C’“\j Ops \Ml% b. £1 = e
T Grwpleke N
T.emll en

Co ERANN i oo [

44.  Complete the coordinates for rectangle DHCP. Then use
coordinate geometry to prove the following statement: The
diagonals of a rectangle are congruent (Theorem 6-11).
Given: rectangle DHCP
Prove: DC = HP

V= ) Q- (02
= @+ 2ot = \Jhet 4y

(0,2)

|. Ge—
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3, 0. Ik s
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